Quick Installation Guide

Models:

Plugsie V1.0
Plugsie Bat V1.0

1. Tools Required

The following tools will be required to install battery only in scenario 2 (Use
Plugsie V1.0 and Plugsie Bat V1.0 stacked).

.

Rubber Mallet

6mm Magnetic
Phillips
Screwdriver

Hammer Drill

@o8mm Marker

2. Packing List

For Plugsie V1.0:

Quick
Installation
Guide

Ribbon*5

AC cable*]

Sealing head*1 Installation guide*1

USB to Pl cable*1

For Plugsie Bat V1.0 :

W

Expansion tube*2 &
Expansion screw

Bracket A and B*1 Mounting screw

pack (M4*10)*5 (M6*40)*2
.
3. Product Overview
For Plugsie V1.0 :
Screen
System Status LED
Function Button
—————— Power Button
~ —
[@4— Grid-Tied Terminal
; =
RJ45 =8 .
O, EPS Terminal
e , B
Battery Status LED
For Plugsie Bat V1.0 :

Battery Status LED

Bracket Mountin: o
Holg G, Fixing Connector

4. Installation Steps

Scenario 1- Use Plugsie V1.0 alone:

Charge and discharge using AC cable.

Make sure the connnection

<]

Scenario 2 - Use Plugsie V1.0 and Plugsie Bat V1.0 stacked:

The following figure shows the characteristics after installation.

i

Bracket

Note: There is no need to install brackets for single battery only extended
equipment needs to be installed.
Step1

Install the dust covers of the bottom Plugsie Bat V1.0 and remove the other dust
covers.

1
l

Step2

Lock bracket A to the rear cover of the battery with screws (M4+10).

is tight after hearing a “Click”

Step 3

Lock bracket B to bracket A and move the battery to a suitable position against
the wall and mark the bracket holes on the wall with a marker.

Step 4
Note: Remove the battery before driling.

Drill ¢8*40mm or deeper holes at the two markers, hammer the expansion tubes
into the holes, and then use a screwdriver to fasten the two M6*40 expansion
screws to the bracket B.

¢8,depth
40-45mm

Step 5

Install the required stacked battery in the orientation shown in the figure.

Step 6

Rotate the fixing connector to the corresponding hole of the upper battery
and tighten the screw to fix it.

maximum of four units of Plugsie Bat V1.0.

Plugsie Bat V1.0

*Note: Ensure that each system has only one unit of Plugsie V1.0 and a

v
T
0
il
o)
PN
Lé)'\
/f'm
L
ol
S
N
]

5. System Operation

All installation and operation must comply with local electrical standards.
Check all power cables carefully.

Button

Action

Function

Press for 2 Seconds
(in power off state)

Turn on the battery

Press for 2 Seconds
(in power on state)

Enable/disable EPS output

Press for 5 Seconds
(in power on state)

Turn off the battery

Press for 2 Seconds
(in screen off state)

Light up the screen

Press for 2 Seconds
(in screen on state)

Switch the screen page

Press for 20 Seconds

Reset bluetooth and Wi-Fi

Smart meter

USB O
@ =]l =»> O:

USB to Pl cable

6. Electric meter communication connection

The corresponding interface between the equipment and the electric meter
is connected through the cable to establish a coommunication connection.
Connect the USB interface to the device side, and connect the RJ12 interface
to the meter side (P1 port).

Note: Ensure that the interface is firmly inserted to ensure the normal data
transmission function.

8o \\\

g

7. APP Configuration

Download the app compatible with your system.

Scan the QR code below to read the configuration guide.

8. Smart Meter Configuration

Please scan the QR code below to get the latest supported smart meters and
specific configuration methods for various models of smart meters.

9. User Manual

Please scan the QR Code and follow the steps below to download our
latest multi-language User Manual/Quick Installation Guide:

Scan the QR Code - Select your Language - Choose to download
User Manual or Quick Installation Guide - Download

A V1.0.0
Hd: 99-203-00529-00-X




Schnelle Installationsanleitung

Modellnummer:
Plugsie V1.0
Plugsie Bat V1.0

1. Benétigte Werkzeuge

Die folgenden Werkzeuge (mit gestapelten Plugsie V1.0 und Plugsie Bat V1.0)
sind nur fUr den Einbau der Batterien in Szenario 2 erforderlich.

&

&

6mm magnetischer

Kreuzschrau- Hammerbohrer i .
bendreher @¢e8mm Kennzeichnung Gummihammer
Far Plugsie V1.0:
Schnelle
Installation-

sanleitung
. . ’ .
Bander*5 Wechsels:omkabel Versiegelungskopf*l Installationsanlei

tung*l

Usb zu P1 kabel*1

Fur Plugsie Bat V1.0:

FEg

=s | ¥

Befestigungss- Expansionsrohr*2 &
chrauben Verpack- Dehnschraube
ung (M4*10)*5 (M6*40)*2

3. Produktuibersicht

Fur Plugsie V1.0:

Klammern A und B*1

Bildschirm

Systemstatusanzeige

Funktionstaste
————Einschalttaste

— Netzangeschlossenes
Terminal

RJ45
usB 152

EPS-Terminal

2NN
rA ﬂll
o []

Betriebszustandsanzeige

Far Plugsie Bat V1.0:

y

Betriebszustandsanzeige

Befestigungsloch ____f

fur Halterung ﬁ Feststeckverbinder

4. Installationsschritte

Szenario 1-Plugsie V1.0 allein:

Laden und Entladen mit Wechselstromkabel.

Stellen Sie sicher, dass die
Verbindung sicher ist,
nachdem Sie das ,Klick” héren

|

Szenario 2-Verwenden Sie gestapelte Plugsie V1.0 und Plugsie Bat V1.0:

Die folgende Abbildung zeigt die Eigenschaften nach der Installation.

V

yd

Schlitten

]

Hinweis: FUr eine Einzelbatterie mussen keine Halterungen installiert werden,
lediglich eine erweiterte Ausristung muss installiert werden.
Schritt1

Installieren Sie die Staubschutzabdeckung des Plugsie Bat V1.0 unten und
entfernen Sie die anderen.

,,,,,,,,,,,, N
deckung, die vom Plugsie V1.0 !
entfernt wurde

Schritt 2

Halter A mit Schrauben (M4*10) an der hinteren Abdeckung der Batterie
verriegeln.

Schritt3

Verriegeln Sie die Halterung B an der Halterung A, bewegen Sie die Batterie in
eine geeignete Position gegen die Wand und markieren Sie die Halterungslécher
mit einem Marker an der Wand.

Schritt4
Hinweis: Entfernen Sie die Batterie vor dem Bohren.

Bohren Sie Lécher von ¢8*40mm oder mehr an den beiden Markierungen,
hédmmern Sie das Expansionsrohr in die Lécher und befestigen Sie dann
mit einem Schraubendreher zwei M6*40 Expansionsschrauben an der
Halterung B.

p8 tiefe _
40-45mm

Schritt5
Installieren Sie die gewtnschten Stapelzellen in der in der Abbildung gezeigten
Orientierung.
w
(
\/A
Schritt6

Drehen Sie das Befestigungsgelenk an das entsprechende Loch der oberen
Batterie und ziehen Sie die Schraube fest, um es zu fixieren.

*Hinweis: Stellen Sie sicher, dass jedes System nur einen Plugsie V1.0 und
maximal vier Plugsie Bat V1.0 hat.

Plugsie \}I.O

7
o
8
. ] o)
Plugsie Bat V1.0 ©
<4 Schichten 0
N
5 ~
/r Y
?

L2945

5. Systembetrieb

Alle Installationen und Betriebe mussen den lokalen elektrischen Normen
entsprechen.

Uberprufen Sie alle Netzkabel sorgfditig.

Knopf Aktion Funktionalitat

2 Sekunden gedrdckt halten
(stromausfallzustand)

2 Sekunden gedrdckt halten
(stromausfallzustand)

Einschalten der Batterie

EPS-Ausgang aktivieren/
deaktivieren

5 Sekunden gedruckt halten
(stromausfallzustand)

2 Sekunden gedruckt halten
(stromausfallzustand)

2 Sekunden gedrdckt halten
(stromausfallzustand)

Batterie ausschalten

Beleuchten Sie den Bildschirm

Bildschirmseite wechseln

20 Sekunden gedrickt halten  |Bluetooth und Wi-Fi zurlicksetzen

6. Kommunikationsanschluss fiir Zahler

Verbinden Sie die entsprechende Schnittstelle des Gerdits und des Stromzdhlers
Uber ein Kabel, um eine Kommmunikationsverbindung herzustellen.

Verbinden Sie die USB-Schnittstelle mit der Gerdéteseite und die RJ12-Schnittstelle
mit der Messgerdteseite (Anschluss P1).

Hinweis: Stellen Sie sicher, dass die Schnittstelle fest eingeschlossen ist, um

eine normale Datentbertragungsfunktion sicherzustellen.

fae \\Y

Intelligente Z&hler USB zu P1 Kabel us

@

6. APP-Konfiguration

Laden Sie die App herunter, die mit Ihrem System kompatibel ist.

GETIT O

e Goo-éle Play

Download on the

@& App Store

Scannen Sie den QR-Code unten, um die Konfigurationsanleitung zu lesen.

Bitte scannen Sie den QR-Code unten, um die neuesten unterstitzten Smart
Meter und die sperzifischen Konfigurationsmethoden jedes Modells von Smart
Meter zu erhalten.

8. Bedienungsanleitung

Bitte scannen Sie den QR-Code und folgen Sie den folgenden Schritten, um

unser neuestes mehrsprachiges Benutzerhandbuch/Quick Installation Guide
herunterzuladen:

Scannen Sie den QR-Code — wdhlen Sie lhre Sprache —

wdhlen Sie Download

Bedienungsanleitung oder Kurzinstallationsanleitung — Download

V1.0.0
99-203-00529-00-X



Snelle installatiegids

Modellen:
Plugsie V1.0
Plugsie Bat V1.0

1. Vereiste gereedschappen

De volgende gereedschap zullen alleen nodig zijn om batterij in scenario 2 te
installeren (gebruik Plugsie V1.0 en Plugsie Bat V1.0 gestapeldﬂ

d ’”

&

B6mm magneti-
sche Phillips- Hammerboren

schroeven @p8mm

2. Verpakkingslijst

Voor Plugsie V1.0:
I Snelle
installatiegids|

Installatiegids*1

Markering Rubbermalet

Band*5 AC-kabel*1 Verzegelingskop*1

USB-kabel tot *1

Voor Plugsie Bat V1.0:

FEg

4. Installatiestappen

Scenario 1-gebruik alleen Plugsie V1.0:

Laden en afloop met behulp van AC-kabel.

Zorg er voor dat de binding
streng is nadat een "klik”

Scenario 2 — gebruik van Plugsie V1.0 en Plugsie Bat V1.0 gestapeld:

In de volgende figuur wordt de kenmerken na de installatie geinstalleerd .

7

Hakker

Opmerking: Er hoeven geen beugels te worden geinstalleerd voor een enkele
batterij, alleen uitgebreide apparatuur moet worden geinstalleerd.

Stap 1

Installeren de stofdeksels van de bodem Plugsie Bat V1.0 en verwijderen de andere
stofdeksels.

Stap 3

Versluit de haakhaak B naar haakhaak A en verplaatst de batterij naar een

geschikte positie tegen de muur en merk de haakgaten op de muur met een
markering.

Stap 4
Opmerking: Verwijder de batterij voordat het droeren.

Boor ¢8*40mm of dieper gaten aan de twee markers, hamer de uitbreiding-
sbuizen in de gaten en gebruik dan een schroefschroeven om de twee M6*40
uitbreidingsschroeven aan de haak B te bevestigen.

¢8,diepte
40-45mm

Stap 5

Installeren de vereiste gestapelde batterij in de op de figuur getoond oriéntering.

*Opmerking:Zorg erop dat elk systeem slechts &én eenheid van Plugsie V1.0
en maximaal vier eenheden van Plugsie Bat V1.0 beschikt.

7. App configuratie

o Download de app die met uw systeem compatibel is.
Plugsie V1.0
i
]
1o}
I
Plugsie Bat V1.0 T §
<4 Lagen 0
N
~
/ ' g
s
w |
S
N
7 ]

# Download on the
@& App Store
Scan de hieronder QR-code om de configuratiegids te lezen.

5. Systeemwerking

Alle installatie en exploitatie moet voldoen aan lokale elektrische normen.
Controleer alle elektrickabels zorgvuldig.

Knop Actie Functie

in uitgeschakeld)

Druk gedurende 2 seconden
%in uitgeschakeld)

Druk ?edurende 2 seconden De batterij aanschakelen

EPS-uitgang inschakelen/
uitschakelen

Druk gedurende 5 seconden
?in uitgeschakeld)

Druk ?edurende 2 seconden

De batterij uitsluiten

in uitgeschakeld)
Druk ?edurende 2 seconden

in uitgeschakeld)

Het scherm oplichten

8. Configuratie van slimmeter

Scan de hieronder de QR-code om de meest ondersteunde slimmeters en
specifieke configuratiemethoden voor verschillende modellen slimmeters te
krijgen.

Schermpagina wisselen

Druk gedurende 20 seconden Bluetooth en Wi-Fi herstellen

28

W&

. Montageschroef Expansiebuiz*2 &
Hakken A en B*1 Verpakking Uitbreidingsschroef
(M4*10)*5 (M6+*40)*2

3. Productoverzicht

Voor Plugsie V1.0:
] } Scherm
Systeemstatus LED
Functionknop
———— Energieknop
= —
[ [ @{— Gordgebonden
1 — terminal
RJ4E — o=@ .
UsB 9‘ EPS-terminal
| ]
[
Bedrijfsstatus LED
Voor Plugsie Bat V1.0
Bedrijfsstatus LED
Montage van de haalgzsé — E Vestigingsverbinding
0.
-~ . . e

f.d]:\_

Stap 6

-
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
| ‘ =1
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
L

Stap 2

Versluit de haak A aan de achterdeksel van de batterij met schroeven (M4*10).

Draai de bevestigingsverbinding aan het overeenkomstige gat van de bovenste
batterij en verstrip de schroef om het te bevestigen.

6. Electriciteitsmeter communicatieverbinding

Een communicatieverbinding tot stand brengen via de overeenkomstige
interface tussen het apparaat en de meter via de kabel.

Sluit de USB-interface aan op de apparaatzijde en sluit de RJ12-interface aan
op de meterzijde (P1-poort).

Opmerking: Zorg ervoor dat de interface stabiel is ingevoegd om de normale
gegevensoverdrachtsfunctie te garanderen.

RJI2 UsB O
o mm [E] =9 ( >:_J\@D
©e J
Habyabay telphd
Slimme meter USB naar P1 kabel usB

9. Gebruikshandleiding

Scan de QR-code en volg de hieronder de stappen om onze meertalige

gebruikshandleid/snelle installatiegids te downloaden:
De QR-code scannen — Selecteer uw taal — Kies om te downloaden
Gebruikshandleiding of snelle installatiegids — Download

V1.0.0
99-203-00529-00-X



Guide d'installation rapide

Numéro de modele:
Plugsie V1.0
Plugsie Bat V1.0

1. Outils requis

Les outils suivants sont nécessaires pour installer la batterie uniquement dans
le scénario 2 (avec un Plugsie V1.0 et un Plugsie Bat V1.0 empilés).

P

Tournevis Phillips
magnétique
6mm

#

&

Perceuse marteau
@¢e8mm

Marquage

.

Marteau en
caoutchouc

2. Liste d'emballage

Pour Plugsie V1.0:
Guide
d'installation|
Rubans*5 Cdble AC*1 Téte d'étanchéité*l Guide d'installation*1

Cable Usb vers P1*]

Pour Plugsie Bat V1.0:

Parenthéses A et B*1

FEg

B8

Vis de montage
Emballage (M4*10)*5

W

Tuyau d'expansion*2

& Vis d'expansion
(M6*40)*2

3. Vue d'ensemble des produits

Pour Plugsie V1.0:

RJ45 —o=@|
use —o20)

écran

Indicateur d'état du systéme
Boutons de fonction
Bouton d'alimentation

[lel ]

Pour Plugsie Bat V1.0:

Trou de montage
du support

au réseau

Terminal EPS

Indicateur d'état de fonctionnement

Indicateur d'état de fonctionnement

B Connecteur fixe

— Terminal connecté

Etape 3

4. Etapes d'installation

Scénario 1-Utilisation du Plugsie V1.0 seul:

Verrouillez le support B sur le support A, déplacez la batterie dans une position
appropriée contre le mur et marquez le trou du support sur le mur avec un
margueur.

Charge et décharge & laide d'un cdble CA.

Aprés avoir entendu un "clic’,
assurez-vous que la connexion
est ferme

Etape 4
Remarque: Retirer la batterie avant de percer le trou.

Percez des trous de ¢8*40mm ou plus profonds aux deux marques, martez
le tube d'expansion dans les trous, puis fixez deux vis d'expansion M6*40 sur
le support B avec un tournevis.

Scénario 2-Utilisation des Plugsie V1.0 et Plugsie Bat V1.0 empilés:

Limage ci-dessous montre les caractéristiques aprés installation.

7

A

Chariot

Remarque: Il n'est pas nécessaire dinstaller des supports pour une seule batterie,
seul léquipement étendu doit étre installé.

Etape 5

Etape Installez les piles empilées requises dans l'orientation indiquée sur la figure.

Installez le capuchon inférieur du Plugsie Bat V1.0 et retirez les autres capuchons.

: w
s

/@ Retirez le housse anti- 5
o < poussiére |
S~

4 geppoussiere ) Etupe 6

Faites tourner le joint fixe vers le trou correspondant de la batterie supérieure
et serrez la vis pour le fixer.

-
I
I
I
|
I
I
I
I
I
I
I
I
I
I
|
I
I
|
|
' R ~
! ‘ = < @Retirez le housse anti- 1
I
I
|
I
I
I
I
I
I
I
I
I
I
|
I
!
L

1= .
- Installation du capot anti-poussiére
> = P

Etape 2

Verrouiller le support A sur le couvercle arriére de la batterie & laide de vis
(M410).

*Remarques: Assurez-vous qu'il n'y a qu'un seul Plugsie V1.0 par systéeme

et quatre Plugsie Bat V1.0 au maximum. 6. Configuration de I'application

| Téléchargez une application compatible avec votre systéme.
Plugsie V1.0 9 PP P Y
T
o]
S
Plugsie Bat V1.0 =] §’
<4 Couche ‘o
TN
~
2
3
0 !
<
N
]

CET IT O

e ébé-éle Play

Download on the

@& App Store

Toutes les installations et opérations doivent étre conformes aux normes
électriques locales.
Veérifiez bien tous les cdbles d'alimentation.

Bouton Action Fonctionnalité

Appuyez pendant 2 secondes
(Etat hors tension)
Appuyez pendant 2 secondes
(Etat hors tension)

Allumez la batterie

Activation/désactivation de la
sortie EPS

Appuyez pendant 5 secondes
(Etat hors tension)
Appuyez pendant 2 secondes
(Etat hors tension)
Appuyez pendant 2 secondes
(Etat hors tension)

Eteignez la batterie

Eclairer lécran

Changer de page d'écran

Veuillez scanner le code QR ci-dessous pour obtenir les derniers compteurs
intelligents pris en charge et les méthodes de configuration spécifiques de
chague modéle de compteurs intelligents.

Appuyez pendant 20 secondes | Réinitialiser Bluetooth et Wi-Fi

6. Connexion de communication du compteur

Connectez linterface correspondante entre [équipement et le compteur par
un cdble pour établir une connexion de communication.

Connectez linterface USB au cé6té de [appareil et connectez linterface RJ12 au
coté du compteur (port P1).

Remarque: Assurez-vous que linterface est fermement insérée pour garantir
la fonction normale de transmission de données.

8. Manuel d'utilisation

S'il vous plait scanner le code QR et suivez les étapes ci-dessous pour

télécharger notre dernier manuel d'utilisateur multilingue/guide

usB O B . .
———m__=]t => dinstallation rapide:
®e Scannez le code QR — Sélectionnez votre langue — Sélectionnez Télécharger
- - Manuel d'utilisateur ou guide d'installation rapide — Télécharger
Compteur Caible USB vers Pl usB
intelligent

V1.0.0
9-203-00529-00-X




